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you have four choices for each objective type question as AB,C  Ensboizlidt e §LI S LS o
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet.
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

> c | B ] A QUESTIONS /ety | ST
(7.1)(10“ years | 7.1x10" years | 7.1x10° years 7.1x10% years | The half life of :j;sU is: 1
Ju7.1x10" Ju7.1x10" Jo7.1x10° Jv7.1x10° eiid DU
d d fe f The magnifying power of simple 2
1+ 7 1- 7 7 —]}— microscope is:
; ’ ¢ _%Jn/)&v@’ud?&?aﬁﬁf/tib;
Wavelength Amplitude Frequency Speed | In a vacuum, all electromagnetic 3
Ly, sed 3y Lo waves have the same:
A i v b
Amplitude Wavelength Period Frequency The loudness of a sound is most 4
32k s, L b closely related to its:
| -4.@:14#/%1;”;%&5;0&35[/
The object The image - The speed of The focal The index of refraction depends on: 5
distance distance light length et mui,gu-*—{ j J‘_j’;"/..( B
LAl ANLE Prng LB
Five joules of work is needed to 6
shift 10C of charge from one place
to another. The potential difference
between the places will be:
1oV 5V 2V ; 05V L@Lﬁd/»c;f.,{!ftwkgélocug/l
A L/.cyhu'»u)»ul-ﬁ;b“/‘,l:/u(udié&éé
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What does happen to the intensity 7
or the brightness of the lamps
Cannot be Remains the Decreases Increases connected in series as more and
predicted same ad ida s 3ol more lamps are added?
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. The turn ratios of a transformer is 8
V,=V,/10 Ng =10N, Ny =N, /10 s :10["‘\ 10. It means:
: R _inl0er skl /A;J'!/'/;
_ AND gate can be formed by using 9
NAND gates NOR gates OR gates NOT gates, | two? ‘ :
A A 8.2 Hoe b el Ut weof
: %‘-—OLMJ/%
Control unit CPU Memory Monitor The brain of any computer system 10
By Y ot Ky is: _e bkt 2edst”
The half life of a certain isotope is 11
None of these One eight One quarter One-half { day, what will be the quantity of
LISt 1 do g ST the isotope after 2 days?
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NOTE: Write same qucstlon pumber and its parts number on answer book, as given in the question paper.
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5.(A) | Explain Coulomb’s law of electrostatics and prove its

mathematical form.

(B) | A current of 3mA is flowing through a wire for 1 minute.
| What is the charge flowing through it? -
6.(A) | What is meant by electronic mail?
Write any three uses of it.

(B) | If at Anarkali bazaar Lahore intensity level of sound is

80dB. What will be the intensity of sound there?
7.(A) | How does work house safety alarm? Explain.

(B) | A step down transformer has turns ratio 1: 100. An AC
voltage of amplitude 170V is applied to the primary. If the
current in the primary coil is lmA what is current in the
secondary coil? o -

b e e
SECTION-II _¢v.® '
Attempt any two questions, 18=2x9 .,:{5 ivyliéumrua.&f :

2, Attempt any five parts. \ 10=2x5 W9y a@&tg&f 24U
“(i) | Define amplitude and write its unit. g S S @)
(ii) | A wave movesona slinky with frequency of 4Hz and 0.4m 52 2331 4Hz kY b0 0S Ty g ——E;)ﬂ
wavelength of 0.4m. What is the speed of wave? -J/}')”MJ 0 i ' \
(i) | What do the dark and bright fringes represent on the screen sl ey A P g PSR | (D) f
of ripple tank?
(iv) | Capacitor blocks D.C current but allows A.C current to pass | eute/ fe /s cifed TSl (5:/ (iv)
through a circuit. How does this happen? ":..L‘nu/ (e tpris
(v) | Draw electric field lines for two opposite and equal point -u:f“! 1S A s LR dg LS 2 )
charges.
(vi) | Write two basic characteristics of charges. -u'i‘jubr‘; Gl | (VD)
(vii) | Why does the resistance of conductor increase with b yu/ S A W2 g Ve (vii)
increase in temperature? o |
(viil) | Write the analogy between battery and water pump. ,u':“g L g Mol (viii)
3. Attempt any five parts. 10=2x%5 Eife uLl!‘C!?iéLaéf 34U |
@ What is the necessary conditions for the production of St b /(j/u& Sl L S )
sound? o
(i) | What are two uses of ultrasound in medicine? L S et LA P uwé-_{H‘ Gy |
(iti) | Calculate the frequency of sound wave of speed 340ms" £y 380ms™ ke NETO P AT L NG (iii) I
and wavelength 0.5m. o - 0.5m | ]
(iv) | What is the difference between RAM and ROM memory? - Se GRSt n e (V)
(v) | What is Flash Drive? Se VY wi | )
(vi) | What do you understand by word processing and T RS AV S IVEY (vi)
data managing?
(vii) | Define Carbon Dating. FE S
(viii) | Define Isotopes. Give its example. B g oy s uJ 97 | :
4. Attempt any five parts. ‘I——lﬂ =2 x5 ) _é/:,f uWLlﬂé Léf A eVr | 3
(i) | Define resolving power and magnifying power. z,f._v FEnF wp S |
(ii) | Define total internal reflection and critical angle. . _Z:-—v Vs A JQl J{"./mujﬂ)’ f'J’ J1 Gy |
(iif) | What is the difference between real and virtual image?. > e Gl iz nnds B CDE.
(iv) | State Faraday’s law of electromagnetic induction. : r_ _ZhueufV ¢ udw
(v) | StateLenz’s Law. s ¥ | B
(vi) | How the electrons are deflected by an electric field? te dnele -" :J/’/‘é & sLS, J /ﬂ ! ]
_(vii) | Write the essential components of CRO. aﬁf rLLur” U /L(CMLY_’I_‘:JJ_/
(vili) | Write the truth table of NOR gate and draw its symbol. __| T u s aagedior | (i) |
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and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. ‘
D c B A QUESTIONS /=ity Sr.No.
: What is the power rating of a 1
lamp connected to a 12V
source when it carries 2.5A
60W 30W 14.5W- 4.8W current?
bt Lo re g L12V
225 A b BT AS
s !
In vacuwn In air In water In metal The speed of sound is more: 2
' A el A S e Qo shr ST
If the current in a wire which 3
is placed perpendicular to a
Wwill be zero Remains the Increases Decreases magnetic field increases, the
Snpe same Jey St force on the wire is:
St hx S PSS
o3 e S i S S b
. _J )fJ/);u@..C‘ dbd'._/'/Jf
Both of its inputs | Any of its inputs Any of its inputs | Both of its inputs | Theoutput of a NAND gate is 4
{ al,e (‘19, is “155 iS “0"5 ) oy i3 are ‘40’! 65077 When:
B=1 mA=1 | B=1LA=l B=0 | A%Q -y B=0 » A=D N pragestfe s
External mail Electronic mail Extra mail “«Emergency mail What does the term e-mail 5
FEf ;g < b ¥ oK ;q . A stand for?
o te KL S Y
[ﬁ = When Uranium (92 protons) 6
» -3 ejects a beta particle, how
93 protons - 91 protons 90 protons --=r| 89 protons many protons will be in the
3249 22491 oo Jhggo | remainingnucleus?
4,v/@uvdf"/gtg Gy 92 (F ol
L | oo 158394 LUV
; The device which converts 7
mechanical energy into
Electroscope ~ D.C motor A.C generator Transformer electrical energy is called:
Wyl FR A ey O G SO S g S 7 T
-‘LL“/ J“),;
The relation between v, f 8
-2 A= f 1 ﬁ and A of a wave is:
= vl = JA=V W . &
v =7 f f uyﬂf_ﬂgu;rw—:f/‘&u@»{t
i
Chemical Mechanical Thermal Electrical Which form of energy is -9
Nz £ J Ny sound?
P te " B ARI
2-1878 AD 1877 AD 41876 AD 1875 AD | Alexander Graham Bell made | 10
a simple telephone model in:
-&b,dﬂ(u; LEU)L/LJ'?(ZLfJJZﬁf
Upright and Upright and real Inverted and Inverted and real | Which type of image is formed| 11
| /virtual Fonil i virtual. Ko by a convex leizs ona s/creen?
‘i J:;/wluﬂi | J;,?,;u,-l(}"l | ?‘?*w"'g“-{(ji’(/v‘i/‘r‘/‘!‘ﬁ’{ |
Repels a neutral k Attracts a neutral Repels other Attracts other | A positive electric charge: 12

charge charge
q.\?'/d)fb/(gul/‘:f {..V/(ua{beng/‘:j

positive charge

positive charge
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NOTE: Write same question number and its parts number on answer book, as given in the question paper.
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SECTION-1 Ji.o

2. Attempt any five parts. I 10=2 x5 & f .r.&lit[.lzié&é—ljf 24y
(i) | What are damped oscillations? How damping progressively FaL (ﬁ”’ G kit Sl e P et )
reduce the amplitude of oscillation? %.8/{ .:J;/G'usz:'
(i) | Distinguish between iongitudinal and transverse waves with O s O e Lot st S (i)
suitable examples. ool AL
(iii) | A wave moves on a slinky with frequency of 4Hz and a‘gf{u 4tz 5ok S8 TSl (i)
wavelength of 0.4m. What is the speed of wave? -u’/ (}"‘lyd/i;-a/'/ 0.4
(iv) | What is meant by electric field and electric intensity? Sl A e (il S A S lad (iv)
(v) | In what direction will a positively charged particle move in an ¥ .:f e o Sy LI S )
electric field?
(vi) | Differentiate between electric potential and potential difference? LS s e By | (i)
(vii) | What is the difference between D.C and A.C? teJ/ Lﬁﬁ-‘/ Bt Sk (vii)
(viii) | Can current flow in a circuil without potential difference? “4_\;/ AL Sy sy | (vil)
3. Attempt any five parts. 10=2 x5 “' -é' j..yz&wégedf 3
o) Calculate the frequency of sound wave of speed 340ms™ and de G i A& (> ok Sy Ll @)
wavelength 0.5m. —e0.5m fz‘;_l, 31340ms™
(i) | On what factors loudness can depend? Write its names, JE ﬁ(téul?‘;b n/_Jl_fc/:Li O (i)
(iif) | Write two uses of ultrasound. S Fen i f (i)
(iv) | What is the difference between Primary and Secondary memory? S SR AGIE NS Ay | (1Y)
(v) | What is meant by information and communication kchno]ogy? S sl GAe u) PP W)
(vi) | Which is more reliable floppy disk or a hard disk for” Aok IS AL L3 W LS (vi)
data storing? fe U /
(vii) | What is meant by Half life of an element? St e ‘__,.»'UJ, »"u’f (vii)
(viii) | Write down two hazards of radiation. P poe Sf Lk | (vidd)
4. Attempt any five parts. 10=2%5 e ._.pz[.még;éf 44Uy
(i) | Define reflection of light and also write the name of the types of '/ﬂ s ma!z:..d Y J o J ] )
~ | reflection. ) S
(i) | What is meant by regular and irregular reflection of light? “:g_;t e 085l o A—Jslo%b'»&f D] (i)
(iii) | Define Snell’s law and write its formula. 3 L 2y Pl o (iii)
(iv) | What is meant by magnetic resonance imaging(MRI)? ki test e B B (iv)
(v) | Define step up and step down transformer. - .4,//’J P T )
(vi) | Define mutual induction. Ay J(f/ S St (vi)
(vii) | Write the name of parts of cathode ray oscilloscope(CRO). -;’Er Ly _f,.{:é):)fc./:»ﬁ‘-{ (vii)
(vii) | Define electronics. _E S| (viiD)
. SECTION-II (.
NOTE: ! Attempt any two questions. | 18=2x9 | .é‘(!;_‘[.liéumfuaéf v
5.(A) | With the help of diagram derive the formula for the equivalent T sw‘fgu’&.» 2 sesidlf (.5
capacitance for a parallel combination of a number of capacitors. 1+3 - /MIJ”/WLf U Lfi‘/tf
(B) | A resistor of resistance 5.6 is connected across a battery o e e 5.6Q 0 SU? ping (&)
of 3.0V by means of a wire of negligible resistance. A o puU i e B AL LG S3v s £/l,
current of 0.54 passes through the resistor. Calculate: skl 2 - Futr /054
(a) power dissipated in the resistor. 5 oL r}"‘,_sgdué.,m,g,uf Ssu® S
(b) Total power produced by the battery.
6.(A) | What is meant by flow of information? Describe the S resad (lf Eiol SetpPa s Lo | (D6
function of each part with simple diagram. 4 _Eolss
(B) | If at Anarkali bazaar Lahore intensity level of sound is J19580dB s (sl mU/ngJ’/A'!/ﬁ ()
80dB. What will be the intensity of sound there? 5 ?J M’JM\U/ZSV
7.(A) | Define total internal reflection with the help of diagram. CUte o lag s  Sosdud il T
' Explain. 14142 S S el
(B) | A step-up transformer has a turn ratios of 1 : 100. An S A 111100 et U e F o i ()
alternating supply of 20V is connected across the primary G T e oz dv Lumw St £ 20V £ iy
coil. What is the secondary voltage (V) ? 5 e (V) &
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